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5 F‘AHT A =
Answer any 4 out of 5 quesin:ms Each questmn carfies 1 mark. (4x1=4)

1. When a person sells two 5!m|1ar |tems Dne ata gain of say x%, and the other
at a loss of x%. Then find the loss percemage

2. fa:b=5:9andb" c~4 ?ther'lfindfa bi: c.

3. If a quarter kg of pmam costs 60 paise, hnw Jmany paise will 200 gm cost ?
N ( \

4. xcando lgta wmk m 1D days, y can. do‘“4[}% of ‘Ihe work in 40 days and

x
z can do % of thé work in 13 days. Who wHI complete the work first ?

> =

5. lfthe'speedof a boat in 5t|]I waterisu kmf’hr and the speed of the stream is
v'km/hr, then find the speed of upstream

PART - B
Answer any 6 questions out of 10 questions. Each question carries 2 marks.
(6x2=12)
6. Find the average of first 40 natural numbers.
7. The ratio between the present ages of P and Q is 5 : 7 respectively. If the

difference between Q's present age and P's age after 6 yrs is 2, what is the
total of P's and Q’s present age ?

8. If a radio is purchased for Rs. 490 and sold for Rs. 485.50, find the loss

percent.
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g. A mixture contains alcohol and water in the ratio 4 : 3. If 5 litres of water is added
to the mixture, the ratio becomes 4 : 5. Find the guantity of alcohol in the given
mixture.

10. If 36 men can do a piece of work in 25 hrs, in how many hrs will 15 men
doit ?

11. A can do a certain job in 12 days. B is 60% more efficient than A. How many
days does B alone take to do the same job 7

12. Peter can cover a certain distance in-1-hr 24 min by .covering two third of
the distance in 4 kmph and the restats kmph Fmd the total distance.

13. A train is moving at a speed of 132 km/hr. ]f the Ier‘lgth of the train is 110 m,
how long will it take to cross a railway ptatforrn 165 m long 7

14. On what dates of July.2004 did Mcmda\_.r fail
15. How many times are the hands: -::f a CJ%KT ngh’t angle in a day 7

S~ PAREA C ‘b

Answer any 1 question out of 2 qgestmns. Each question carries 4 marks. (1x4=4)

16. A bag contains 60 p; 25, p%‘nd 1D@E’oi@‘ the ratio 5 : 9 : 4 amounting to
Rs. 206. Find.the number of %c?:ms of eacrktype

o

A .

17. A and B aretwo sfatmn 390 km apan’f;ﬁtram starts from A at 10 am and
travel towards B tﬁ kmph.. Anotheriram stads\frum B at»11 arm and travels
towards A at“5 krriph. Al what hme do the*fmeet 7 N\
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